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DUMPSQUEEN

QUESTION NO: 1

You have a cube calculation view that consumes a dimension view. You suspect some dimension columns have been
renamed in the cube calculation view.Which function of SAP Web IDE for SAP HANA do you use to check where the output
columns originate from?

A. Label column

B. Show lineage

C. Impact analysis

D. Where used

ANSWER: B

QUESTION NO: 2

Which options do you have to handle orphan nodes in your hierarchy?Note: There are 2 correct answers to this question.
A. Assign them to a level below the root.

B. Define an expression to determine a parent.

C. Assign them to a node at the root level.

D. Generate additional root nodes.

ANSWER: C D

QUESTION NO: 3

Referring to the diagram, which privileges would a user require to view United States data when querying the CUBE
calculation view?
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A. A SELECT privilege on the CUBE calculation view and an Analytic Privilege (Country = United States) on the
DIMENSION calculation view

B. SELECT privileges and Analytic Privileges (Country = United States) on both views
C. A SELECT privilege and an Analytic Privilege (Country = United States) on the DIMENSION calculation view

D. A SELECT privilege and an Analytic Privilege (Country = United States) on the CUBE calculation view

ANSWER: A

QUESTION NO: 4

What can you identify using Performance Analysis mode?Note: There are 2 correct answers to this question.
A. Expected memory consumption

B. Usage statistics of the calculation view

C. Joins that are defined on calculated columns

D. Information about join cardinality

ANSWER: CD

QUESTION NO: 5

In your calculation view, you want to consume a custom data source defined using SQLScript.In which type of object do you
write your code?
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A. Procedure
B. Scalar function
C. Anonymous block

D. Table function

ANSWER: D

QUESTION NO: 6

You implement a referential join between Table A and Table B, but when you query the calculation view, Table B is not
pruned.What could be the problem?

Left Right

Order Id Customer
Date / City
Customer Country
Quantity

Note: There are 2 correct answers to this question.
A. Join cardinality is set :1.

B. The Country column is requested.

C. Integrity constraint is set to RIGHT.

D. The Keep flag is activated for the Customer column.

ANSWER: CD

QUESTION NO: 7

Which of the following techniques can you use to improve the performance of calculation views?Note: There are 2 correct
answers to this question.

A. Partition large tables.
B. Limit the number of stacked calculation views.
C. Implement union pruning.

D. Avoid aggregating data early in the data flow.

DumpsQueen - Pass Your Next Certification Exam Fast!
dumpsqueen.com


https://dumpsqueen.com/

DUMPSQUEEN

ANSWER: AB

QUESTION NO: 8

Why should you define calculated column expressions using plain SQL and avoid using column engine language?
A. To prevent queries from unfolding

B. To access the full set of SQL functions

C. To allow imperative statements

D. To benefit from additional SQL optimizations

ANSWER: D

QUESTION NO: 9

What are some of the restrictions that apply when defining parallelization blocks in calculation views?Note: There are 2
correct answers to this question.

A. The block must start with a node that defines a table as a data source.
B. Multiple blocks can only be defined within a single calculation view.
C. The block must only have one start node.

D. Only one block can be defined across a stack of calculation views.

ANSWER: AD

QUESTION NO: 10

You deleted the design-time file of a calculation view in your HDB module.What is the recommended way to ensure that the
corresponding runtime object is also removed from the database?

A. Execute a DROP statement in an SQL console connected to the HDI container.
B. Build the project that contained the deleted design-time file.
C. Execute the refactor function for the calculation view.

D. Build the folder that contained the deleted design-time file.

ANSWER: D
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